information
1. Total work-in-process during the period is the sum of the beginning work-in-process inventory and the total manufacturing costs incurred during the period. 
True    False

 

2. The variable cost per unit is defined to be constant despite changes in the volume of activity within the relevant range. 
True    False

 

3. Period costs are those costs assigned to units of production in the period in which they are incurred. 
True    False

 

4. Operating income is reported net of applicable income tax effects. 
True    False

 

5. A decrease in the margin of safety would be caused by a(n): 
A. increase in the total fixed costs.
B. increase in total revenue (sales).
C. decrease in the break-even point.
D. decrease in the variable cost per unit.

 

6. Barnes Corporation manufactures skateboards and is in the process of preparing next year's budget. The pro forma income statement for the current year is presented below. 
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For the coming year, the management of Barnes Corporation anticipates a 10 percent increase in sales, a 12 percent increase in variable costs, and a $45,000 increase in fixed expenses.

The breakeven point for next year would be 
A. $729,027.
B. $862,103.
C. $214,018.
D. $474,000.
E. $700,000.

 

7. A company's break-even point will not be increased by: 
A. an increase in total fixed costs.
B. a decrease in the selling price per unit.
C. an increase in the variable cost per unit.
D. a decrease in the contribution margin ratio.
E. an increase in the number of units produced and sold.

 

8. XYZ Company's sales are $750,000 with operating profits of $130,000. If the contribution margin ratio is 40%, what did the fixed costs amount to? 
A. $370,000.
B. $300,000.
C. $270,000.
D. $170,000.
E. $130,000.

 

